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EET BEBET BAL No.0~NO. 6+1.1 61.1 m
%I hALE RGITaV 91—k NO. 0~No0+0.2 1 Er
NOLk IRBITa 91—k | No.6+0.9~NO. 6+1.1 1 &fR
FYRITT EEL DS NO. O 0.1 m
FYMFITT WEELTDS NO. 6+1. 1 0.1 m
N 0.2 m
M T BAL No.0~NO. 6+1.1 61.1 m
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Bl | L WE | TR WE | R R | @B WE | 2| WA Z B WA T

NO. © 0.0 0.20 0.90 0.2 0.97 0.2 0.97 0.2 157 0.3 157 0.3 1.00 0.2 0.08 0.02
NO. 0+ 02 0.2 4.90 1.17 5.7 0.97 48 0.97 48 157 7.7 157 7.7 1.00 4.9 0.08 0.39
NO. 1 9.8 9.90 0.98 9.7 0.97 9.6 0.98 9.7 1.63 16.1 1.63 16.1 1.00 9.9 0.08 0.79
NO. 2 10.0 10.00 1.49 14.9 1.07 10.7 1.07 10.7 1.74 174 1.74 174 1.00 10.0 0.08 0.80
NO. 3 10.0 10.00 1.18 11.8 1.15 115 1.15 115 1.81 18.1 1.81 18.1 1.00 10.0 0.08 0.80
NO. 4 10.0 10.00 1.33 133 1.20 12.0 1.20 12.0 1.87 18.7 1.87 18.7 1.00 10.0 0.08 0.80
NO. 5 10.0 10.00 1.13 113 1.33 133 1.33 133 1.96 19.6 1.96 19.6 1.00 10.0 0.08 0.80
NO. 6 10.0 5.45 1.13 6.2 1.30 7.1 1.30 7.1 1.96 10.7 1.96 10.7 1.00 5.5 0.08 0.44
NO. 6+ 09 0.9 0.45 1.27 0.6 1.35 0.6 1.35 0.6 2.02 0.9 2.02 0.9 1.00 0.5 0.08 0.04
NO. 6+ 1.1 0.2 0.20 1.27 0.3 1.35 0.3 1.35 0.3 2.02 04 2.02 04 1.00 0.2 0.08 0.02
61.1 61.1 74.0 70.1 70.2 109.9 109.9 61.1 4.9
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1.7x0.26=
NO. 0 0.0 0.20 0.44 0.10 0.44m
NO. 0+ 02 0.2 490
NO. 1 9.8 9.90
NO. 2 10.0 10.00
NO. 3 10.0 10.00
NO. 4 10.0 10.00
NO. 5 10.0 10.00
NO. 6 10.0 5.45
NO. 6+ 09 0.9 0.45
2.5%0.26=
NO. 6+ 1.1 0.2 0.20 0.65 0.10 0.65m
B 61.1 61.1 0.2




